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In he previous lecture ce detied  xek, AcB.

Ex. Foranyseb A od a (wel-ceinel) object
xe kA = IFCTA-

Ex/Deb. The power set PO o a seb X s
POO=5A| A=Xy-

Ex. List the elements of "P(31,2%) .

Solution.  P(31,28) =% &, 4%, 23,3423 X

Ex List the elements of  P(3,2,33)
Soluchion - SuFPoso. AT %1,2,38 Either S€A or JEA:
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Y ~» 11,35
N 48
N~ 32,38
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Y ~> 333
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“The same qoitt of vied gives Us Hhat "
the number of elements o P(x) is 2
2 X has Il many elements .
Opersions on sets
AnB : the infersection o A and B.
AuR : the unon o A and B.
ANB . the difference o A and B
N ¢ the complement o8 AP
and my Hvonbe opernbon:
ArR . the samek-n‘c, diffevence .
Visualize these aperations  before giving e Formal definitions :
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Dedinchoms Xe AaR <« XA A xeB

A e AUB <= XA Y 2B

X € ANB <= xeAk AN X¢B

xeArB = xeAuB A X¢ AaB

C ) (

AR

ANR

B\A

AAB



N
Ex . Let A=%14,2,33 ad B8=%3,43. TThen

Ao =339

AUB =31,2,3,4%

ANB=131,2%

BNA = 34%

AR =51,2,48 -
Proposition . ARB= (AUB)\(AB)

= (A\B) U(B\A) -

In the nect lecture we uwse o druth—table o prve ‘H'\is’?m?os'rl:tbn.



